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ASSERTIOl\-RE \SO;\ BASED QlJES l'IONS 
ch of the follo\\lng contains As,;eruon and Reason nnd has the folllm ing four choices (A), (13), (C} und 

DI, onl) one of ,\h1ch 1s the correct an•mer 

i\ \sscrt1on and Reason are true. Reason is n correct cxplanat1on for Assertion 

B \sscrt1on and Reason ore true: Reason b not n correct cxplonution for Assertion 

C \ssert1on is 1 rue, Reason 1s False 

D Assertion 1s Palse Reason Is True 

Assertion: lf A and B arc S) mmctnc m tnce~ ol '-,1mc on.k1 then AH BA is nlso a symmetric matrix. 
Rca~on· An) square matnx A Is said t(l be skc,,-s) mmcmc matrix if,\ -Ar. where AT is the transpo .. 

of matrix A 
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If x - a cos3 8 , = a sin3 8 then. find - 2 • '- dx 
Volume of the cube is increasing at a rate of 9 cubic inches per second. What is the nilc ut \\hich '-llrfol, 

area JS increa~ing \\hen the length of the edge of the cube is 10 inches? 
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f,aluate .• sin-1 x cos • x . 

Section I: 

A to) man11lae111rcr ''""" to c11t n 28 111ctrc> long \\i1c into t\\n piece,. One ,,1 the t\\o pieces to be bent 

1110 the fom, ol a square of side x ond other into lnc fo1111 of n ci,de of r:idius y. JJ,,sc<l on the nbo" 

mformntiun ans\\ er the follo\\ ing quc..,tH1t1s 
28 n, 

-------------~---------- Wire 
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Square 

1) What i~ the relauon bct,.,een x and y '? 

\ 1 ) If A is the total area of the circle and square, wn A is_ 

(111) What is the mi mm urn value of A" 

Or 
V.. halts rnaxnnum ,alue of A ? 

Three !-chools X, Y and l de~1dcd to org,uuzc u mir {Ir colli.'cting money for helping the flood '
1

ct1ms 

Ille) 51,ld h,mdmudc fam, mnts and pl ,i.:s trom rct) ckd m,1tcri11l al a cost of Rs. 25, Rs. I 00 and Rs <; 

rcsrcctivcl). The number ofnrudcs Sl1ld arc gi,cn as 

f School/ Articlcl 
1------

Handmadc fans 

L_Ma~-t-
1 Plates 
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40 
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20 
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40 

30 
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35 

'---
50 

40 

Based on the information given aboYe, answer the following questions: 

(i) Whut is the total money (m rupees) collected by school X ? 

lii) \\ hat is the total amount of mone) collected by all three schools X, Y and z ? 

(iii) lf the number of handmade fans and plates are interchanged for all the schools, then th~ total mon ... ) 

collected by all schools is _____ _ 

OR 

1 otal number of articles sold by thn::c school is __ _ 

6. Read the following passage und answer 1h~ followina questions. 
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In order to Sl.'t up a train \\ater han-csting systc."m, a tank to collect rain water is lo be dug. The lank ~h~uld have 
a squ.u-c base and a capaClt) of 250 m 1. The cost of land is Rs. 5,000 per square metre and cost of d1ggmg . 

increases with depth and for the \\hole tank, 11 is Rs. 40.000 h2, Vvhere his the depth of the tank in metres. x IS 

the std\.' of tl1e square base of the tank in metres. 

(i) 

(ii) 

{.u) 

Conduit ---+-11>1' 

....,:.. __ Recharge 

Facility 

____ Galche<r.Ofll 

ti 

r 
Storage 
Factltly 

Find the total cost C of digging the tank in terms of x. 

F . d dC 
In -. 

dx 
(a) Find the value of.-\ for which cost C 1s minimum 

OR 

(b) Check whether the cost function C(x) expressed in term of xis increasing or not, where x > o. 
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